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I3. Peckham 

1. (2 pts) Let W he a vector ~mhspacc of JR11
• Define W J. = { v E IR. 11 

: ii· iv = 0 Wu E W}. 
Show that ~VJ. is a vector subspace of IR.11
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2. (:lpls) Let i't = m, .i'2 m, and ,;; = m. Let W be the two-dimensional 

subspace of IR.3 defined by W = span { i 1, :r2 }. Compute the projection of the vector 
1v onto W. Do not simplify your answer. 
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3. (EC 2pts) Consider the vector space lP' 4 (polynomials of degree 4 or less) with the 

inner product < p1,P2 >= J~ 1 P1(t)p2(t)dt. Let f(t) = t 2 , and g(t) = t4 . Compute 
the projection of the vector g onto the vector f. 
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